
 Install Guide 

 www.034motorsport.com 1 

STRUT TOWER 

BRACE, B8 S/Q5 

B8 S/Q5 Strut Tower Brace 

 

 
 

034Motorsport's Billet Aluminum Front Strut Brace for the B8 

Audi Q5 & SQ5 is designed to limit lateral deflection from the 

strut towers and improve handling performance without 

sacrificing ride quality or introducing any additional noise, 

vibration, or harshness into the cabin. 
 

Installation Spiciness Rating: MILD 

 
Installation of your 034Motorsport Strut Brace is a 

straightforward process that will take approximately 30 

minutes to complete. 

Supplied Parts: 

• (1x) 034 Strut Brace body 

• (2x) 034 Strut Brace supports (Primary) 

• (2x) 034 Strut Brace supports (Secondary) 

•  (4x) M8x40 bolts 

• (2x) M8x25 bolts 

• (4x) M8 washers 

• (4x) M8 nylon locking nuts 

Tools Needed: 

• 13mm Deep Socket 

• 10mm Socket 

About This Guide 

This Install Guide documents the installation process on a B8 

Audi Q5. There may be minor differences depending on 

specific vehicle, market, options, etc. 

https://www.034motorsport.com/034motorsport-front-strut-brace-b8-b8-5-audi-q5-sq5-billet-aluminum.html


 Install Guide 

 www.034motorsport.com 2 

STRUT TOWER 

BRACE, B8 S/Q5 

Getting Started 

Confirm you have received all the parts included with your 

purchase by reading the complete guide, if there are missing 

components, please contact: 

customerservice@034motorsport.com 

Assembly Steps 

Step A 

Lay out all the components for assembly. 

 

Step B 

Slide the primary supports onto the main body, using the 

slide guides. 

 

Step C 

Insert the secondary supports into the main body/primary 

support sub-assembly. 

 

Step D 

Use the provided M8x40 bolts to secure the full assembly. 

 

mailto:customerservice@034motorsport.com


 Install Guide 

 www.034motorsport.com 3 

STRUT TOWER 

BRACE, B8 S/Q5 

Step E 

You are now ready for installation. 

 

Install Steps 

Step 1 

Open the hood of your car to access the strut brace. 

 

Step 2 

Using a 13mm deep socket, remove the 4 nuts and 2 bolts 

securing the factory strut bar. 

 
Step 3 

Using a 10mm socket, remove the nuts from the firewall 

brackets. 

 



 Install Guide 

 www.034motorsport.com 4 

STRUT TOWER 

BRACE, B8 S/Q5 

Step 4 

Gently pull up on the factory strut bar. 

 

Step 5 

Carefully place the assembled 034 strut brace into location. 

 

 

Step 6 

Use the provided M8 washers and nuts to secure the primary 

supports to the chassis. 

 
Step 7 

Use a 6mm Allen on the provided M8 bolts to secure the 

secondary supports to the chassis. 

 



 Install Guide 

 www.034motorsport.com 5 

STRUT TOWER 

BRACE, B8 S/Q5 

 

Step 8 

You are done! Enjoy the added rigidity. 

 
 


